Phone: 1.888.912.3151 Fax: 1.601.399.5077

Online: www.howardcomputers.com



Howard Computers P.O. Box 1588 Laurel, MS 39441

Online Quotation

Quote No:KC4 1161418.00Quote Date:November 09, 2021Customer Name:Cynthia BourgetPhone Number:619-660-4415

Company Name: Cuyamaca College Fax Number:
Quote Name: OPP-013595-Automotive and parking Option 1 for Labor

Item 1

Category	Description	Qty.	Unit Price	Ext. Price
System Type:	Accessories			
1:	AXIS M3057-PLVE MkII - Network panoramic camera - dome - outdoor - vandal / weatherproof - color (Day&Night) - 6 MP - 2560 x 1920 - fixed iris - fixed focal - LAN - MJPEG, H.264, H.265 - PoE Class 3 MPN: 02109-001	15	\$513.00	\$7,695.00
2:	AXIS Surveillance - Flash memory card (microSDXC to SD adapter included) - 256 GB - Video Class V30 / UHS Class 3 / Class10 - microSDXC - white (pack of 10) - for AXIS P1455, P3255, P3925, Q6100, Q6315, Q8752, V5925, V5938 50; Q60 Series; V59 Series MPN: 02021-021	2	\$1,524.00	\$3,048.00
3:	AXIS Surveillance - Flash memory card (microSDXC to SD adapter included) - 256 GB - Video Class V30 / UHS Class 3 / Class10 - microSDXC - white - for AXIS P1455, P3255, P3925, Q6100, Q6315, Q8752, V5925, V5938 50; Q60 Series; V59 Series MPN: 02021-001	5	\$158.00	\$790.00
4:	AXIS P3245-VE Network Camera - Network surveillance camera - dome - outdoor - color (Day&Night) - 1920 x 1080 - 1080p - auto iris - vari-focal - LAN 10/100 - MJPEG, H.264, HEVC, H.265, MPEG-4 AVC - PoE Plus MPN: 01594-001	10	\$489.00	\$4,890.00
5:	Ubiquiti UniFi Switch USW-24-POE - Switch - managed - 24 x 10/100/1000 (16 PoE+) + 2 x Gigabit SFP - desktop, rack-mountable - PoE++ (95 W) MPN: USW-24-POE	2	\$391.00	\$782.00
6:	AXIS T91B53 Telescopic Ceiling Mount - Camera mounting bracket - ceiling mountable - for AXIS M3067-P, M3068-P, T91A04, T91A06, T94B02D, T94F01P, T94K01D MPN: 01189-001	15	\$133.00	\$1,995.00
7 :	AXIS T94B02D Pendant Kit MPN: AXC-5507361	15	\$23.00	\$345.00
8:	Wall Mount MPN: T91D61	10	\$66.00	\$660.00
9:	Axis Communications Axis Pendant Kit MPN: 5502-321	10	\$39.00	\$390.00

Sub-Total: \$20,595.00

Shipping & Handling : Included

Taxes: \$1,699.09

Enviromental Fee: \$0.00 Total for Item 1: \$22,294.09

This quote will expire December 09, 2021.

To expedite your order, please include your quote number with your Purchase Order.

Total for all pre-configured items

Sub-Total: \$20,595.00

Shipping & Handling: Included

Taxes: \$1,699.09

Enviromental Fee: \$0.00

Total: \$22,294.09

Notes:

Pricing and availability subject to change without notice. Packaging, Shipping, and Handling fees are not included unless specifically stated. Prices and lease payments do not include applicable taxes. Ship dates are approximations and are not guarantees. Quick ship items not available in Alaska, Hawaii, or outside the United States. Specific state laws may affect shipment of products.

Any order for kiosks must be canceled prior to 21 days from the scheduled date of shipment to avoid incurring a 50% cancellation fee. Any cancellation made within that 21-day window will automatically incur a charge equivalent to 50% of the total kiosk order being canceled.

Howard reserves the right to charge a 25% restocking fee for cancellation of a purchase order after Howard has commenced fulfillment of the order. Howard may, with notice, cancel any purchase order at any time without any liability to the Purchaser. Howard reserves the right to charge the Purchaser full purchase price for delaying shipment of a purchase order for an extended period of time which then results in the cancellation of said order.

Given the current uncertainties related to international trade, Howard hereby reserves the right to unilaterally revise the prices quoted herein in the event its manufacturing or procurement costs for such goods increase due to the imposition by the United States or any other country of new or higher tariff(s) or of any other similar tax, fee or charge.

If Purchaser fails to pay any invoice in full within the time quoted herein, Howard may, without notice, accelerate the due date of all outstanding invoices and require that all outstanding invoices, including any interest thereon, be immediately due and payable in full.

Howard's product warranties and return policies and related information, which are available at https://www.howardcomputers.com/support/warranties.cfm and https://www.howardcomputers.com/support/returnpolicy.cfm, are fully adopted and incorporated herein by reference. These may also be obtained by calling 1-888-912-3151 or emailing webmaster@howardcomputers.com.

THIS QUOTATION IS EXPRESSLY LIMITED TO, AND EXPRESSLY MADE CONDITIONAL ON, PURCHASER'S ACCEPTANCE OF THE TERMS SET FORTH OR INCORPORATED HEREIN; HOWARD OBJECTS TO ANY DIFFERENT OR ADDITIONAL TERMS.

Phone: 1.888.912.3151 Fax: 1.601.399.5077

Online: www.howardcomputers.com



Howard Computers P.O. Box 1588 Laurel, MS 39441

Online Quotation

Quote No:KC4 1161225.00Quote Date:November 09, 2021Customer Name:Cynthia BourgetPhone Number:619-660-4415

Company Name: Cuyamaca College Fax Number:

Quote Name: OPP-013595-Automotive OPTION 1 LABOR ONLY

Item 1

Category	Description	Qty.	Unit Price	Ext. Price
System Type:	Accessories			
1:	LABOR FOR OPP-013595-Automotiv e OPTION 1 LABOR ONLY MPN: OPP-013595-Automotive OPTION 1 LABOR ONLY-INSTALL	1	\$45,526.74	\$45,526.74
2:	Programming/ Commissioning FOR OPP-013595-Automotiv e OPTION 1 LABOR ONLY MPN: OPP-013595-Automotive OPTION 1 LABOR ONLY-PROGRAMMING	1	\$6,184.00	\$6,184.00

Sub-Total: \$51,710.74

Shipping & Handling: Included

Taxes: Tax Exempt

Environmental Fee: \$0.00

Total for Item 1: \$51,710.74

This quote will expire December 09, 2021.

To expedite your order, please include your quote number with your Purchase Order.

Total for all pre-configured items

Sub-Total: \$51,710.74

Shipping & Handling: Included

Taxes: Tax Exempt

Environmental Fee: \$0.00

Total: \$51,710.74

Notes:

Pricing and availability subject to change without notice. Packaging, Shipping, and Handling fees are not included unless specifically stated. Prices and lease payments do not include applicable taxes. Ship dates are approximations and are not guarantees. Quick ship items not available in Alaska, Hawaii, or outside the United States. Specific state laws may affect shipment of products.

Any order for kiosks must be canceled prior to 21 days from the scheduled date of shipment to avoid incurring a 50% cancellation fee. Any cancellation made within that 21-day window will automatically incur a charge equivalent to 50% of the total kiosk order being canceled.

Howard reserves the right to charge a 25% restocking fee for cancellation of a purchase order after Howard has commenced fulfillment of the order. Howard may, with notice, cancel any purchase order at any time without any liability to the Purchaser. Howard reserves the right to charge the Purchaser full purchase price for delaying shipment of a purchase order for an extended period of time which then results in the cancellation of said order.

Given the current uncertainties related to international trade, Howard hereby reserves the right to unilaterally revise the prices quoted herein in the event its manufacturing or procurement costs for such goods increase due to the imposition by the United States or any other country of new or higher tariff(s) or of any other similar tax, fee or charge.

If Purchaser fails to pay any invoice in full within the time quoted herein, Howard may, without notice, accelerate the due date of all outstanding invoices and require that all outstanding invoices, including any interest thereon, be immediately due and payable in full.

Howard's product warranties and return policies and related information, which are available at https://www.howardcomputers.com/support/warranties.cfm and https://www.howardcomputers.com/support/returnpolicy.cfm, are fully adopted and incorporated herein by reference. These may also be obtained by calling 1-888-912-3151 or emailing webmaster@howardcomputers.com.

THIS QUOTATION IS EXPRESSLY LIMITED TO, AND EXPRESSLY MADE CONDITIONAL ON, PURCHASER'S ACCEPTANCE OF THE TERMS SET FORTH OR INCORPORATED HEREIN; HOWARD OBJECTS TO ANY DIFFERENT OR ADDITIONAL TERMS.